SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 400013
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fauiRa 999 : 3 gve AR aH 3ih : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 10 in section-A are multiple choice questions where you are to
select one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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el H SR 4 3B & 2 Ul # AU MU B | AP U H TP fAdey &1 aIT B |

dhegeiey BT YA affd 2|

Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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Which of the following expressions is a polynomial ?

(A) x+= (B) Jx +x+x2

(C) V2x+x3+3x2 (D) x2+x~2+2
frfafaa § @ wiF-a1 =i 9gue 2

() x+- (B) x +x+x2

Q) V2x+x3+3x2 (D) x2+x~2+2

What is the coefficient of x2 in the polynomial %xz —3x +47?
(A) -3 (8) 4 © = (o) 0
E@Tq’gxz —3x +4 Hx2 FEE:

(A) -3 (8) 4 © - (D) 0

The maximum number of terms in a polynomial of degree 10 is :

(A) 9 (B) 10 ©) 11 (D) 1
=rd 10 a1t sigug § stfereRad ug g
(A) 9 B) 10 (O 11 D) 1

In the figure below, if x, y and z are exterior angles of AABC, then

x+y+zis:
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y
B——s
(A) 180° (B) 360°  (C) 270° (D) 90°

= st #, af v, y e z fryst ABC % a1 =191 @1 9 X + i + 2 1 7 8

Z0A

B
(A)  180° (B)  360° (C) 270° (D) 90°

In AABC and ADEF, AB=FD, ZA= /D. The two triangles will be congruent by SAS
axiom if :

(A) BC=DE (B) AC=EF (C) BC=EF (D) AC=DE
AABC @en ADEF #, AB=FD, ZA= /D <M fa3 SAS gR1 waimes grf afg
(A) BC=DE (B) AC=EF (C) BC=EF (D) AC=DE

The perimeter of a triangle is 36 cm and its sides are intheratioa:b:c =3:4:5
then a, b, c are respectively :

(A) 9cm,15cm, 12 cm (B) 15cm,12cm,9cm
(C) 12cm,9cm, 15cm (D) 9cm,12cm, 15cm
Teh 19 o1 afimg 36 A qun eei w e Uda:b:c = 3:4:5%,da, b, c HEAW: ¥ :
(A) 93, 15 &+, 12 T (B) 15 &, 12 ¥, 9 It

(C) 12 3, 9 I, 15 Jht (D) 9 &, 12 ¥f, 15 it

The area of AABC in which AB=BC=4cm and /B= 90°is:
(A) 16 cm? (B) 8cm? (C) 4cm? (D) 12cm?

39 39S 1 &=hel ) B fSent ST AB=BC=4 @4, £B= 90° ®?
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(A) 16 a7 (B) 8¥#? (C)4a+H? (D) 1292

Section-B

Question numbers 9 to 14 carry two marks each.

1/ 2
) . 15/1

Simplify : | ——
P [3%

% -2
15

10.  Find the remainder when x# + x3 — 2x2 + x + 1 is divided by x—1.

afe agme x4 4+ x3 — 2x2 + x+ 1 Fr x — 1 & faenfera frn s & & St I Fifew

11.  Using suitable identity prove that :

(0.87)°+ (0.13)°

(0.87)2— (087 x 013) + (0.13) !

(0.87)°+ (0.13)° _,

U AR I JANT R, fag i o 5 5 =
(0.87)%— (0.87 x 0.13) + (0.13)

12.  |n the given figure, if AOB is a line then find the measure of ZBOC, ZCOD and ZDOA.

<

A ) B

\4

& Tl emfa H, Al AOB T @ el Z/BOC, ZCOD @ ZDOA & H1H 1 whifs |

A4

>
&
e
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13. |In the given figure, AB > AC and BO and CO are the bisectors of /B and ZC

respectively. Show that OB > OC.

A

B C
3t Tt eTRfa ®, AB > AC a2 BO dem CO swel: /B @en £ C % rfgyei ¢ 1 gwiige ff OB > OC
g

OR
In the figure below, ray OC stands on the line AB. Ray OP bisects ZAOC and

ray OQ bisects ZBOC. Prove that ZPOQ =90°.

=1 smapfa #, fheor OC T AB @t €1 oo OP, ZAOC &1 gafgars &t § iR fam OQ,
/BOC =i gufg-ifsia st &1 fag wifse fs ZPOQ=90° |

Plot the point P (2, —6) on a graph paper and from it draw PM and PN perpendiculars

14.
to x-axis and y-axis, respectively. Write the coordinates of the points M and N.

fog P(2, — 6) &1 IT% TR R ATifEd shitse a1 T 58 foag P & PM @2 PN a9 x - 3781 991 y - 318
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15.

16.

17.

18.

19.

R o Witaw | fag M der N & facenes o fafau |

Section-C

Question numbers 15 to 24 carry three marks each.

Simplify : 3445 — 125 + 200 — /50
WA RIS : 345 — 125 + 200 — /50

OR
) . 6 32 43
Slmpllfy'ﬁ+ﬁ+%+ﬁ_£+\/§
WA hifs Jo 32 ialE]

:\/E+\/§+\/5+x/§_x/3+«/§

Simplify the following :

2 ., 1 3
B+ B2 B2
T HITST :

2 1 3

G+B Bz Bl

If x — 1 =3, then find the value of x° — 1 .
X x3

aft x — * =38 @ 23 — L e 3@ e

X x3

OR
Factorise : x2—y2—2x+ 6y —8

UMEUE HITST : 22— 12— 2x + 6y — 8

Factorize : 8 a3 — b3 —12 a2 b + 6ab2

8a3 — b3 —12a2 b+ 6ab? ¥ rET Ffw)

The exterior angles obtained on producing the base of a triangle both ways are
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100° and 120°. Find all the angles.

Ifs frdt st & omeR F S AR g STH W s srereRion e 100° der 120° 7, @ fys & =
10T A I |

OR
In the following figure, PQ||RS, #MXQ =135° and /MYR = 35°.

Find ~XMY

135°
M
o, 35 :
R Y S

= & e #, PQ||RS, 4MXQ =135° 2R A MYR =35° &1 ZXMY

Y

Y

1 SifIT |

135°
M
o, 35 :
R Y S

20. |nthe given figure, ZPQR= /PRQ, then prove that Z/PQS= /PRT.

Y

Y

& T smpfa H, afe LPQR= ZPRQE, i fag #ifsw f& ZLPQS= ZPRT.

/\

P
R T

s Q

21.
AK
B

In the figure, AB and CD are respectively the smallest and longest sides of a
quadrilateral ABCD. Show that ZA> ZC

D

C
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22.

23.

24,

ahfd §, T wgys ABCD =i Tod =€t 9 Tad Bt 4=¢ shaw: CD 9 AB ¥ 1 <uiisw fom LA > £C

AABC is an isosceles triangle in which AB=AC. Side BA is produced to D
such that AD = AB. Show that Z/BCD is a right angle.

AABC t= wafgarg fys & fsad AB=AC 1 =1 BA =1 D @ 39 YR 9@l fean s € f&
AD = AB. =wize f& /BCD g9ahiv ¥ |

In the given figure, if BE is bisector of ~ZABC and CE is bisector of ZACD, then

show that /BEC = % /BAC .

A E

>
>

B & D

& T srepfa #, afe BE @eon CE w5w:  ZABC @ ZACD % HHfgwIsi &), a1 guisy fom

Z/BEC = % ZBAC .

A E

—
>

B C D

Manisha has a garden in the shape of a rhombus. The perimeter of
the garden is 40 m and its diagonal is 16 m. She wants to divide it
into two equal parts and use these parts in rotation. Find the area of
each part of the garden.

TS 1 Uk siten SEEqs & %9 § © 3ent uitary 40 Hier i ue oot 16 Hiek w11 39 aii= &l 9%
31 SRR fegdll # e =medt § aifer a8 38 o SR W SRS R Tk 1 Toieh 66 ol &1thel J1d hifelg |

Section-D

Question numbers 25 to 34 carry four marks each.
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25.

26.

27.

28.

29.

Rationalise the denominator of

1
N7 + 6 =13

& B Bl YREHTERI0T hifely |

1
N7 + 6 - 13

OR

Express with rational denominator

1
2 +B+5

%1 UH HSTeh o ©F H oFer hiTST 579 1 8¢ Teh IRHS G /1 |

1
2 +\B+5
\"/g_\ﬁandb=\/g-i_\/E
3 +\2 V3 -2

Ifa = , find the value of a2+b%—5ab.

_B-\2 B+ 2 2,0
?TFc:a—\/ngﬁamb—\/g_ﬁ%,aﬁa% 5 ab =T A 1A HifeT |

If (x+y+2z)=0, then prove that (x3+y3+z3)=3xyz.
A (x+y+2) =07, @ fag s fr (x3 +y3 +23) =3xyz &1

The lateral surface area of a cube is 4 times the square of its edge, find the edge
of a cube whose lateral surface area is given by : 4x2+8— 128 x.

IS o 1 IRE JEF &6, ST o aF ol =R AT 81, O 39 9 1 ST G e, e 9ve g8
et 4x2 4+ 8 — 128 x ¥

If x= — 2 is the root of the equation v2 (x+p)=0 and is also the zero of the
polynomial px2+kx +2+2 then find the value of k.

€ V2 (x+p)=0 TTE A x= —2 T, 70 I qA g8 pa2 + kx + 22 T g f @
k =1 7 9 sifsw)

OR
Without actual division prove that 24 —6x3+3x24+3x—2 is exactly divisible by

x2—3x+2.

aTdfae faae foran ford fom fiag FifT fF agme 2x4 —6x3 +3x2 4+ 3x — 2 agm@ x2 —3x+2 9
quicen faam 1
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30.

31.

32.

33.

Plot the points A (=3, —3), B (3, —3), C (3, 3), D (=3, 3) in the
cartesian plane. Also, find the length of line segment AB.

it e §, figeil A (=3, —3), B (3, —3), C (3,3) sk D (=3, 3) %! sieifiga #iforw| e &,
w@rEe AB &t oo ot 1d sifeg |

Prove that if two lines intersect, then the vertically opposite angles are equal.
fag wifse fr afg <1 W gfaees Y, @ wiwifge o g9 2a © |

Qis a point on side SR of APSR as shown in the figure below such

that PQ=PR. Show that PS > PQ.

P

S ) R

APSR =t = SR w feerq foig Q v v ¥ i PQ=PR &, v fen

smeRfa # gwiten e ¥1 gwize fR PS > PQ

P

Q

Two sides AB and BC and median AM of one triangle ABC are respectively equal to
sides PQ and QR and median PN of APQR. Show that AABC=APQR.

A P
B Ly C 'a R
M Q N

31 et ABC 2iR PQR 39 7R € f AB = PQ, BC = QR dern mifezrsht AM = afezrsht PN ® 1 fag ifsg
f& AABC=APQR.
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34.

In the figure given below, Zx= Zy and PQ=QR. Prove that PE=RS.

Q Sx P

R

AFfaH, Lx= LydnPQ=QR g fag Fifst PE=RS.

Q S P
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